48” Belt Drive Turbo® Tensioner Retro-Fit
Part No’s. 50268, 50268-1

Installation Instruction

DANGER: Electrical Hazzard!! Disconnect electrical power before
inspecting or servicing equipment.

A DANGER

ELECTROCUTION
}ll" HAZARD!
Do not open this con-
' trol box until electrical
power is disconnected
2527-25 | at circuit breakers.

A DANGER

ROTATING FAN BLADE

Keep Hands Away.
Disconnect power before
servicing.

Fan may start automatically.
Do not operate without
screens in place.

Tensioner Installation Procedure

Rotate the Shutter Retainers (Item 1, Figure 1) and Remove the Shutter (Item 2) to gain access to the Fan Motor
Area. Remove the Spring (Item 3) and Belt (Item 4) and while making sure there is enough slack in the Motor Cord
(Item 5)to allow the Motor Pivot Plate (Item 6) to rest on the Motor Mount (Item 7).

DANGER: Rotating Fan Blade!! Keep Hands away.
Disconnect power before servicing. Fan may start automatically. Do not
operate the Fan without the screens in place.

Item | Description

1 Shutter Retainer
2 Shutter

3 Spring

4 Belt

5 Motor Cord

6 Motor Pivot Plate
7 Motor Mount

Figure 1. Removing Shutter, Spring, and Belt

November 2007 MV1891B



Tensioner Installation Procedure Installation Instruction

Drill a 5/16" hole in the Motor Mount (Item 1, Figure 2) using the hole in the Motor Pivot Plate (Item 2) for a
template. Use a 5/16 Bolt (Item 3) and Nut (Item 4) (included in parts package) to attach the Motor Pivot Plate
to the Motor Mount as shown.

9 Nut hidden

Item | Description

1 Motor Mount

2 Hole in Motor Pivot Plate

3 5/16 Bolt (included in parts package)

4 5/16 Flange Nut (included in parts package)

Figure 2. Drilling Hole in Motor Mount to attach Pivot Plate

Obtain the Drill Template C-T part no. 50316 (Item 1, Figure 3) and set it on top of the Motor Mount (Item 2) as

shown. Keep the flange of the Fixture flush with the back side of the Motor Mount and slide it down until it is flush

with the flange of the Motor Mount Connector Angle (Item 3) as shown. Use the holes in the Fixture as a template

to drill two 5/16" holes in the Motor Mount.
E

Item | Description

1 Drill Fixture (C-T Part No. 50316)
2 Motor Mount

3 Motor Mount Connector Angle

Figure 3. Drilling Holes in Motor Mount for Tensioner

Mv1891B



Installation Instruction Tensioner Installation Procedure

Attach the Tensioner Bracket (Item 1, Figure 4) to the Motor Mount (Item 2) with 5/16 Carriage Bolts (Item 3)
and 5/16 Flange Nuts (Item 4) (included in parts package) as shown.

Item | Description

1 Tensioner Bracket
2 Motor Mount

3 5/16 Carriage Bolt
4 5/16 Flange Nut

Figure 4. Attaching Tensioner

Use the Chart below to determine the correct position to set the Tensioner in for the specific Fan that you have. The
Fan model number can be found on the Description Decal (Item 1) in the top right corner of the Fan. Line up the
correct mark on the Tensioner (Item 2) with the etched line on the Tensioner Bracket (Item 3) according to the
Chart, and fasten it to the Tensioner Bracket with the 3/8 Bolt (Item 4) and Lock Washer (Item 5) provided. In
Figure 5, for example a 50232-515 is a 50232-51X series fan and; therefore should be adjusted to position "B"
according to the chart.

P o o m o E o E E E EE o EE E === L]
1
Fan Model Number
@ 48" TURBO® (BD) ' (see chart for correct Tensioner
200 V, 50 HZ, 3PH, 1.5 HP : positioning)
CHORE-TIME EQUIPMENT 1
MILFORD, IN 46542 1

Fan Part No. Tensioner Position

50232-21X Series "c"

50232-22X Series "A"

50232-32X Series "A"

50232-41X Series "Cc"

50232-42X Series "A" "A" Position

50232-51X Series g

50232-52X Serics A" "B" Position
50232-72X Series "A" ralll e
50232-82X Series "A" C Position
50232-92X Series "A"

Item | Description

1 Description Decal

2 Tensioner

3 Tensioner Bracket

4 3/8 Bolt

5 Lock Washer (Provided)

Figure 5. Adusting the Tensioner

Mv1891B 3



Tensioner Installation Procedure

Installation Instruction

Note:

Install the new Belt included in the parts package (Item 1) as shown in Figure 6 below. When the belt is installed
the Tensioner will rotate to a set position. When the Tensioner Bracket is in its final set position, the notches on the
outside wheel (Item 2) of the Tensioner should line up with the mark on the inside wheel (Item 3) of the Tensioner

based on the chart below.

When a belt is worn the Tensioner position may vary as much as 1 full notch from new.

Fan Part No.

Tensioner Position

50232-02X Series

50232-22X Series

50232-32X Series

50232-42X Series

50232-72X Series

50232-82X Series

50232-92X Series

50232-52X Series

"3-1/2 Notch"

50232-21X Series

50232-41X Series

"5th Notch"

50232-51X Series

"4th Notch"

Description

Belt (included in parts package)

Outside wheel on Tensioner

Inside wheel on Tensioner

Figure 6. Installing the Belt and checking Tensioner position




Installation Instruction Part Numbers

Position the Shutter back on the Fan, centered in the Fan Shroud. Rotate the Shutter Retainers to lock the Shutter in
place. Check the Shutter for proper operation. The Shutter must be able to open and close freely without
obstructions. Reconnect power and the Fan is ready for use.

Key | Description
1 Shutter Retainer
2 Shutter

Figure 7. Re-installing the Shutter

Part Numbers

Key Description Kit Part Numbers
50268 50268-1

1 3.5" Tensioner Assembly | 48429 48429

2 Tensioner Bracket 50233 50233

3 Belt, V AX49 50.3" 50271 --
Belt, V AX48 49.3" -- 50270

4 Tensioner Template (See 50316 50316
Figure 3).

Template used for drilling holes in Motor Mount
(See Figure 3).

Mv1891B 5



Part Numbers Installation Instruction

Made to work.
Built to last.

.Note: The original, authoritative version of this manual is the [English] version produced by CTB, Inc. or any of
its subsidiaries or divisions, (hereafter collectively referred to as "CTB"). Subsequent changes to any manual made
by any third party have not been reviewed nor authenticated by CTB. Such changes may include, but are not limited
to, translation into languages other than [English], and additions to or deletions from the original content. CTB
disclaims responsibility for any and all damages, injuries, warranty claims and/or any other claims associated with
such changes, inasmuch as such changes result in content that is different from the authoritative CTB-published
[English] version of the manual. For current product installation and operation information, please contact the
customer service and/or technical service departments of the appropriate CTB subsidiary or division. Should you
observe any questionable content in any manual, please notify CTB immediately in writing to: CTB Legal
Department, P.O. Box 2000, Milford, IN 46542-2000 USA.

Revisions to this Manual

Page No. Description of Change

Various Obsoleted 48617-XXX fans and replaced with 50232-XXX

Contact your nearby Chore-Time distributor or representative for additional parts and information.
CTB Inc.
P.O. Box 2000 * Milford, Indiana 46542-2000 « U.S.A.
Phone (574) 658-4101 - Fax (877) 730-8825
E-Mail: ctb@ctbinc.com ¢ Internet: http//www.ctbinc.com

6 Mv1891B



